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--------------- gasisusedin airtight packing in food stuff.
1. 3T [Argon] 2. 9IS [Nitrogen]
3. PIe SI3TaITSS [Carbon dioxide] 4. 19319 [Neon]

.2 ST SAATGEAR —————— gD ugref gad Areet ST,

-------------- harmful substances release in air through combustion of fuel.
i ARIC IS SI3TaTss [Nitrogen dioxide]  ii. BE SRIRMERATSS [Carbon dioxide]

iii. PIEF AHTRATSS [Carbon monoxide] iv. TR SIRNITES, DIsfo! [Sulphur dioxide, soot]
1. %erd (i) [Only (i)] 2. % (i), (i) [Only (i), (ii)]
3. (i), (i), (iii) 4.(1), (11), (ii1), (iv)

.3 AR 1R HRUIAS! 1874 H& ——————— Y FRATIHT HRUAT 3TTed.

--------- was established in 1874 for studying the weather.

1. T ATafees TRITEMST [National Chemical Laboratory]

2. AR gamH™ f9TT [Indian meterological department]

3. YRR RIS e FLRAT [Indian Space Research Organisation]
4. AU Tha! ATa! [None of the above]
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Al living things have ability to ------------

1. feRgs [fragmentation] 2. TG [reproduce]
3. Yeh1T HIANUT [Photosynthesis] 4. YA 7 [All of the above]
I fheepTel 3MgA —— ———-

The lifespan of mayfly ----------
1. 12 18 aufwRfd [ranges from 12 to 18 years] 2.170T% [170 years]

3.7 I o 24 T [one hour to 24 hours] 4.5099 [50 years]

Fottardiel TgMId gl B FguSl —————
The smallest unit of a living thing is ------

1.3t [tissue] 2. 31934 [organ]

3. 92t [cell] 4. AT Tehg! ATt [None of the abovel]
ECUUTARE! F U TR ——————— SIH

The plant like Pitcher planteven consume insects they are called --------

1. TeiaTst [Autotrophic] 2. Hredveft [Insectivorous]

3. 9RO} [Heterotrophic] 4. T Teha! ATl [None of the abovel]
ST Ul ST HREIT ASiaTa] S gal T ——————— TR,

The animal which given birth to young one is called ---------

1. 31857 [oviparous] 2. SRS [viviparous]

3.19 23! [both 1and 2] 4. qAUDT Uhg! ATal [None of the above]
IHH Wdelel Y8R TR 8] AldedTeaR Y JTHR §geldid W@W Plg ClcheyTdr T Hod ThRId
ORA AT IT UIEHTAT —— —————— UGN

Ram pulled a rubber changes their shapes when a force is applied on them but return to their original
shape and size when the force is removed this property is called ------

1. fRIfCRRITYaRT [Elasticity] 2. f&geuuT [Brittleness]
3. vartear [Fludity] 4. HfSUYUT [Hardness]
ARANT —————— 2} R A1 IUTGH Bl

In India maximum production of rubberis in ----------

1. FIERTY [Maharashtra] 2. Affe@Tg [Tamilnadu]
3.9e5ce [Madhya Pradesh] 4. R [Kerala]

_ITh AT IY —————— REdEEBRIKGUINEICH

----------------- thread was developed simultaneously in New York and London.
1. 3T [Rayon] 2. XA [Terylene]

3. 94T [Nylon] 4. @R [Wool]

Sia=Rca Y MGUIT HGd el

---------------- vitamin help in clotting of blood.

1.A [A] 2.C [C]

3.D [D] 4.K [K]
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THT A Sftea.

Identify the incorrect pair.

1.q ——— roft, gk, werd [Milk ---- water, Urea, Starch]

2. el grae) ——— - ﬁéﬂ?{é [Chilli powder ------ Brick powder]

3.% -———= "gUEFI%lTFﬁET [Pepper corn -------- washing soda]

4. TGO ————— ATRIR TR / 9 [Peanuts —------ reddish pebbles/ stone]

———— St 5T Ueh TP 3Te.

---------- is a type of junk food.

1. 95t [Orange] 2.4 [Milk] 3. fU=sT [Pizza] 4, HTHRT [Bhakri]
& —fepuT =T My ————— —- I e

X-ray were discovered by ---------

1. fdeag RIS Y¥e= [William Conrad Roentgen] 2. 331 ¢ [Issac Newton]

3. T 37eTdT U8RI [Thomas Alva Edison] 4. T IGIAER [S. Chandrashekhar]

SRRTET AR QUIRT FRAT FUIST —— ————

------------ the system which gives a definite shape to our body.

1. SIS FRAT [excretory system] 2. JTERORTTRLT [skeletal system]

3. 999 LT [respiratory system] 4 IFATTIRIROT LT [circulatory system]

HeTIRE Uehl BerTakor] Q=T HellaR el IS A, T Tliel IUTciial (FIfeer fee =, 3Fer Teietl —
—————— TR,

Abutterfly constantly fly from one flower to another there is a no definite direction to it's motion such motion is
called -

1. 31igiefid et [oscillatory motion] 2. FradIfeta o [periodic motion]
3. QAT X9 T [uniform linear motion] 4. ATGftee et [random motion]

Athermometeris used to measure
1. I™0TCT [Heat] 2. IFH [Mass] 3. ATPIRHATT [Volume] 4. dYHTT [Temperature]

SIet 2014 9e3, Yot RiegaTcliet rieNTTa ATeiaraTciiet HTasior Mg ——— - - e IGEAR STe].

In July 2014, the whole village of Malin in Ambegaon taluka of Pune district was destroyed in a matter at

1. 91 [Storm] 2. SaTAET [Volcano] 3.G%8 [Landslide] 4. Tt A [All of these]
SITfYep 3R faq —————— ISt TSR BT ST,

World Health Day is celebrated on ----------
1700 [7" April] 2. 1fSAR [1" December]  3.55T[5" June] 4. 109 [10" March]

I STIRNTRATSS feharl I ATaITSS AR R AT BIel g 01 T H=on=ar Soott AT ————

— — TEUT.

The energy resources which do not produce smoke and carboon gases such as carbon dioxide or
carbon monoxide are called ------------

1. IURURS Solt FATE [Non renewable energy resources]

2. SieTfdegd Sff [Hydroelectric energy]
3. gRa Soff AT [Green energy resources]

4. TAAYDT PEral ATar [None of this above]
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ST ST SHIGUATATS! Tre SIVIT HEf ATaRTe,

Which machine will you use to remove the lid of a tin.

1. 9TeR [Wedges] 2.3 [Pulley]

3.7 [Lever] 4. 91e 3T ERT [Wheel and axle]

————— g 3TUedT IR Fafd eI 1S 3TTe.

--------- is the smallestbone in our body.

1. 3fd®T [Femur] 2. ®3! [Stirrup]

3. fUSRT [Cage] 4. act [Skull]

g et —————— e T HIstel! ST

The intensity of sound is measured in a unit called ----------

1. 71TTE [Noise] 2. dPpeiHex [Lactometer]

3. 3R49eT [Decible] 4. R BrEre! el [None of this above]

—————— HRAT ARASTEAT B ARAT S AleleT REBRT FHT(+e HRuATT 37Tt

---------- Indian scientist honoured Nobel prize in physics.

1. 31, TUT.SH. 3feget e [Dr. A.P.J. Abdul Kalam] 2. 3fdgATer €FIR [Ravindranath Tagore]
3. 7 R [Merie Curie] 4.2, .8, I [Dr. C.V. Raman)]
GTeA T DIV [Hea 1 FeTTd IGTERUT 37T,

Which of the following is one example of gravitational force?

1. IRESt Racs Gaapleps AT BIaTa. [Iron nail get attract towards magnet]
2. FTSTARIeT T SIEFTAR Usd. [Afruit fall on the ground]

3. BRATER Telecamal BT BT Ol HIGHT qael TN P,
[After rubbing a plastic comb on hair it attract the paper piece]

4. ISP PrEle! ATEl. [None of this above]

T ygrfel A ar] T STSITd 96T gIvaTel —— ————— TEUTAT.

The change of a solid substance directly into a gas or vapour is called ----------
1.8<haT [boiling] 2. fareTa [melting]

3.9 [condensation] 4. A9 [sublimation]
T DIV HeTed 4T 3Te.

Which of the following elementis an example of metal?

1. A=A [Aluminium] 2. %18 [Carbon]

3. 9% [Sulphur] 4. 3RS [Oxygen]
Geherid P ghTe Re a2,

Which of the following statement is false

1. U1 ot &1 STURURD ot 31Te. [Light energy is non conventional energy]

2. 91 g1 Hafd GlehasI ST1ss el AT@!. [Light does not travel through vaccum]
3. 12T AR NN M il [Light travel through straight line]

4. A BIETE! ATEY. [None of this above]

--------- must be applied to lift a greater weight
1. &4 97 [less force] 2. ST 91 [greater force] 3.TTd [pressure] 4. aRIdh! 4 [All of the above]

(4)
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9.31

399 3Hfe=T 3MTSas fapelt ? [5.- 6]

How many weeks are there in 3 yr. 3 months?

ForQ.32to 35

9.32

9.33
9. 34
9. 35
9.36

9. 37

1.150 2.170 3.169 4.160
TETd A AR UG N5l
Find an odd man out.
1.583 2.970 3.396 4.880
I = 2. 51 3. > 4 o
1.5204 2.9273 3.5153 4.8113
1.29 2.59 3.69 4.79
HorTfIgTeT STt A1 AR forat
Find the number that can be placed into the circle?
1.25 2.64 3.125 4.50

2.3 3.4 4.9

ForQ.38to 40

9. 38

9. 39

9. 40

9. 41

g.42

@Tefiel YT Sea foraT.

The question are based on the following diagram. Answer the quesitons given below.

a REdl
[Hockey]
[Crlcket] v

Football
ﬁﬁﬂéTéﬁszﬁamn%ﬁ$dﬁaaaﬁ?3ﬂ%ﬁ1? [ ]
Which numeral represents the set of persons, who play all three games?
1.3 2.4 3.6 4.7

esic SO §ichT TWabaTTel U7 fhehe Wood ATg! 31 fahelt et 3fTed ?

Which numeral represents the set of persons. Who play football and hockey but not cricket?

1.7 2.2 3.3 4.6

fepdne STIOT BTdhT Wbl TuT fehdhe Wesd ATET Y faet el @R 2

Which numeral represents the set of persons, who play cricket & hockey but not football?

1.1 2.2 3.3 4.4

QURT 2.30 91T BreTesTel AIIepIC] g fAfFieepTeT Jreard fid! S i TaR gige ?

What will be the measure of an angle between the hour hand and minute hand of clock at 2.30 pm
1.90° 2.100° 3.105° 4.60°
Ryegian T aR 9 fSahToft HTacame 1 aRY T idid d Tl 9 SHHICR Jahs TR 3Te,

TR AT et fapett ardet

Siddhanth cut a wire 9 times and made pieces of equal length. If each piece is of 9 decameter. Find the
length of the wire.
1.810m 2.900m 3.90m 4.81m
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Y. 46

2016 gufcfict Rreres & AFaRT 3/¥er TR 2016 af a1eT & dhegT 31t ?

Teachers day of year 2016 was on Monday. What was the day of Baldin of year 2016 ?
1. YehdR [Friday] 2. 49K [Saturday] 3.3fIaR [Sunday] 4. AHAR [Monday]

T STl STRATCHeT UfHT 3T 35T,
Find out the mirrorimage of each of the following question figure from the given alternatives.
465 ] 1.[465 2. [ aap 3.[564] 4 [bac
IS SN Iciiet BTt e ot ?
How many triangles are there in the figure alongside?
1.4 2.8 3.6 4.7
fSetea angliaed ATt e et 2
How many quaotrangle are there in the given figure?
1.15 2.30 3.45 4.90

ForQ.47to49

9. 47

9. 48

9. 49

9.50

T - 3R, Ryeqi, g 9 PO g IR WaoTg 3MMed. g afdiRaa |esTor fehdhe Weadral. 3RS thard fohehe @
Pedlel Wadl, Fediel thad foe Wesdrd. Riegid TI-@ /) SoR A Wos Wasd!. had Uhd TRl hags|

W& ATE!. T 8% Pedlel Wosd ATal. Y 0T Wi -1 7E IR 377

Arya, Siddhant, Harsh and Krishna are four players, Except Harsh all play cricket. Arya plays only
circket and football. Only three players play football. Siddhanth plays all games except kho-kho. Only
one player does not play kabaddi. Only Harsh does not play football. Harsh and Krishna are expert in
kho-kho.

Raegrd, g 1Tfor FHoun Pl Wes WesdTe ?

Which game Siddhant, Harsh and Krishna play?

1. 9SS! [kabaddi] 2.Q-41 [kho-kho] 3. fehahe [cricket] 4. pesid [football]
{d W5 DIV WoodTd ?

Who plays all the games?

1.3 [Arya] 2. R1egid [Siddhant] 3.89 [Harsh] 4.1 [Krishnal]
DIVIT TS B G BTG Wb ?

Which game is played by only two players?

1. fohahe [cricket] 2. ®ege! [kabaddi] 3. %edld [football] 4.@1-@r [kho-kho]

U TS & JRA 6 . AW g, GURY 1.00 ISl aRIsR SATeied] SeTesIld HRichTes! 6.00 Tofl
IV o5 foter 2

Awall watch goes late by 6 minutes every hour. If it is adjusted at 1.0 pm. What time will it show at 6.00
p.m.
1.6:30PM 2.5.30PM 3.5.PM 4.6.PM

(3mmueaT geufada 50 e 3ed™ (OMR Answersheet) ScaR Uf3hd WeF HHid 1 o 50 Rfda Scar Aicardid.)

(a1 geTuferdt IR T (Answer Key) €/ fGad www.drevramanexam.in JRI5caR U gl )
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